BrmiarE R HEEAE [P26]
£3E  BEA. 6 BREA. (2)MRONKEERVHEER

W75 R (BER)

wWEE £ &
NFEEEEE FEE D 90%(REH50% - HITH40%)
HhBEHEmEPIESE RAMBE : H Y (B9 D50%)
(fHEHEK) 1/2 —MREMEEE FTEEIL%
R IEE - &L

BHOEBEORE (BMEEEEBNEMCBE LB e [Ef : EH]
__p 2 =
ﬁﬁ)‘?;: - TRE =5 ESpgE) (F)
Ay ;/\ 3& < E_ ES {f%
f9sk&iBmE (C E
(A) ek (C) rao) | F
2.14 14.28 3.93 2.00 19.65
MEEEE 42.00 (A) + (C) + (D) + (E) + (F)
WE R [Efr : EM]
EEE X5 EEE N ®
B R \
= 39.30| KKIBRIEE, BUhEME., RtE. BRIEE NMETEE
EEE (G)
42.00 FBh R A
i 2.70| i%EtE. BREEAE, (B I1EE, REAXBEIEE
EEZE (H)

E#BhEE (F) | BB REEE(G)DL/2

39.318H x 1/2 = 19.65&M

NHEZEZFEE (1) | HONREFEEG) o BMEHF(F)Z2E L5 W /-8EDI0%

(39.31H — 19.65(8M) x 90% = 17.685EM
¥5b, XAMAMEAFE(D) = (39.3EM — 19.65(EM) x 40% x 50% = 3.93(EM

—REMEXEE () |HPONURAEEE(H)DSHb, WREBDIEEBEDTS%

2MEAD S B, 0.TEMAANRE X0.7EM x 75% = 0.525(8H

B & (B) | AHEHEME]) + —REMEBEE))

17.68512M + 0.525(8MA = 18.2118M

==Lk (C) | AHEXEFE(]) - ZAREARE(D) + —AxEMERE)

17.685f8F — 3.9318MF + 0.525(8M = 14.28{2M

E = (E) | &BNCEDTEILFE(E)
2.0012M
— AR BFIR (A) |BE=%%ZE - BEpe%E(F) - E2(E) - &£&(B)

42.00f2M — 19.65/EM — 2.00{8M — 18.21{8H = 2.14EM




